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TEST  

1. What will be the output of the following C++ application? 

#include <iostream> 
using namespace std; 
  
class String 
{ 
private: 
     int length; 
     char* ps; 
public: 
     String(); 
     String(const char*); 
     ~String(); 
  
     const String& operator= (String&); 
     const String& operator+(const String&); 
  
     char* getString() { return this->ps; } 
}; 
  
String::String() { 
     this->length = 0; 
     this->ps = NULL; 
} 
  
String::String(const char* str) 
{ 
     this->length = strlen(str); 
     this->ps = new char[this->length + 1]; 
     strcpy(this->ps, str); 
} 
  
String::~String() { 
     if (this->ps) delete[] this->ps; 
     this->length = 0; 
     this->ps = NULL; 
} 
  
const String& String::operator+(const String& strSrc) { 
     String* tempS; 
     tempS = new String(); 
     tempS->length = this->length + strSrc.length; 
     if (tempS->ps != NULL) delete[] tempS->ps; 
     tempS->ps = new char[tempS->length + 1]; 
     strcpy(tempS->ps, this->ps); 
     strcat(tempS->ps, strSrc.ps); 
     return (*tempS); 
} 
  
const String& String::operator=(String& strSrc) { 
     if (this != &strSrc) { 
           this->length = strSrc.length; 
           if (this->ps) delete[] this->ps; 
           this->ps = new char[this->length + 1]; 
           strcpy(this->ps, strSrc.ps); 
     } 
     return *this; 
} 
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int main() 
{ 
     String s1("The first string. "); 
     String s2("and the second one. "); 
     String s3; 
  
     s3 = "A string. "; 
     s3 = s3 + s1.getString(); 
     cout << s3.getString() << endl; 
  
     return 0; 
} 
 
a. “A string. The first string. ” 
b. “A string. “ 
c. Nothing, due to compile-time error message for not appropriate implementations of the overloaded operators 
d.  “The first string. A string. “ 
 
2. What will be the output of the following C++ application? 

#include <stdio.h> 
  
void f(char &x, int& y) 
{ 
     y++; 
     x += y; 
} 
  
int main() 
{ 
     int a = 65; 
     char b = 1; 
  
     f((char&)a, (int&)b); 
  
     printf("%d %d", a, b); 
  
     return 0; 
} 
 
a.  Nothing, due to a compile-time error for the call to the function f 
b.  67 2 
c.  Nothing, due to a compile-time error for the implementation of the function f 
d.  Nothing, due to a run-time error 
 
3. What will be the output of the following C++ application? 

#include <iostream> 
using namespace std; 
  
int main() 
{ 
     int y = 0; 
     constexpr char n = 'n'; 
     constexpr char m = '?'; 
  
     switch ((char)(y == 0)) { 
     case 'n': 
           cout << "\'n\' has been chosen\n"; 
           break; 
     case 0: 
           cout << y << " has been chosen\n"; 
           break; 
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     case m: 
           cout << m << " has been chosen\n"; 
           break; 
     default: 
           cout << "Nothing has been chosen\n"; 
           break; 
     } 
  
     return 0; 
} 
 
a.  ‘n’ has been chosen 
b.  ? has been chosen 
c.  0 has been chosen 
d.  Nothing has been chosen 
 
4. What is the output when the below C application will run (Little-Endian is the rule to store binary content)? 

#include <stdio.h> 
  
int main() 
{ 
     int a = 0x12340000; 
  
     printf("0x%02X\n", (char)a + 1); 
  
     return 0; 
 
} 
a.  0x12340001 
b.  0x1234 
c.  0x01 
d.  0x12340000 
 
5. What is the right statement regarding the following C++ application? 

#include <stdio.h> 
#include <string.h> 
  
class Student 
{ 
public: 
     int age; 
     char* name; 
public: 
     Student(int v = 0, char* sname = NULL) 
     { 
           this->age = v; 
           if (sname != NULL) 
           { 
                this->name = new char[strlen(sname) + 1]; 
                strcpy(this->name, sname); 
           } 
           else 
                this->name = NULL; 
     } 
  
     Student(const Student& s) 
     { 
           this->name = new char[strlen(s.name) + 1]; 
           strcpy(this->name, s.name); 
           this->age = s.age; 
     } 
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     ~Student() 
     { 
           if (this->name) 
                delete[] this->name; 
     } 
  
}; 
  
int main() 
{ 
     int age1 = 21; 
  
     Student s1(age1, (char*)"John"); 
     Student s2 = s1; 
     Student s3 = s2; 
     Student s4 = s1; 
  
     s3 = s4; 
  
     return 0; 
} 
 
a.  An overloaded version of operator = will be called one single time and the application will run without errors 
b.  The default implementation of operator = will be called one single time and the application will run without errors 
c.  No call to operator = 
d.  The default implementation of operator = will be called one single time and the application will generate run-time 
error 
 
6. What is the output when the below C++ application will run? 

#include <iostream> 
using namespace std; 
  
int main() 
{ 
     int count = 0; 
     string name("John Smith"); 
  
     cout << name << " (" << name.length() << ")" << " & "; 
     string name_jr = name + " Jr."; 
     cout << name_jr << " (" << name_jr.length() << ")\n"; 
  
     return 0; 
} 
 
a.  John Smith (10) & John Smith Jr. (14) 
b.  John Smith (14) & John Smith Jr. (14) 
c.  John Smith (10) & John Smith Jr. (10) 
d.  John Smith (10) & John Smith (10) 
 
7. What will be the content of the file test.txt as string view after running the following C application? 

#include <stdio.h> 
  
void main() 
{ 
     unsigned char buffer[] = { 'A' , 'B', 'C', 'D'}; 
      
     FILE* fp; 
     fp = fopen("test.txt", "w"); 
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     for (int i = 0; i < sizeof(buffer); i++) 
           fwrite((buffer + i), sizeof(unsigned char), 1, fp); 
  
     fclose(fp); 
} 
 
a.  65666768 
b.  DCBA 
c.  ‘A’’B’’C’’D’ 
d.  ABCD 
 
8. What will be the output of the following C application? 

#include <stdio.h> 
  
void main() 
{ 
     unsigned char v[] = { 1, 2, 9 }; 
     unsigned char* pa = v; 
  
     *(pa + 1) = *(pa) + 1 + pa[2]; 
     printf("\na = %u, *pa = %u", v[1], pa[2]); 
} 
 
a.  v[1] = 2, pa[2] = 9 
b.  v[1] = 1, pa[2] = 9 
c.  v[1] = 2, pa[2] = 11 
d.  v[1] = 11, pa[2] = 9 
 
9. In the following C++ application, how many times the operator delete will be called? 

#include <stdio.h> 
#include <string.h> 
  
class Student 
{ 
public: 
     int age; 
     char* name; 
public: 
     Student(int v = 0, char* sname = NULL) 
     { 
           this->age = v; 
           if (sname != NULL) 
           { 
                this->name = new char[strlen(sname) + 1]; 
                strcpy(this->name, sname); 
           } 
           else 
                this->name = NULL; 
     } 
  
     Student(const Student& s) 
     { 
           this->name = new char[strlen(s.name) + 1]; 
           strcpy(this->name, s.name); 
           this->age = s.age; 
     } 
  
     Student operator+(Student s) 
     { 
           Student tstud; 
           tstud.age = (this->age + s.age) / 2; 
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           tstud.name = new char[strlen(this->name) + strlen(s.name) + 1]; 
           strcpy(tstud.name, this->name); 
           strcpy(tstud.name + strlen(this->name), s.name); 
  
           return tstud; 
     } 
  
     ~Student() 
     { 
           if (this->name) 
           { 
                delete[] this->name; 
           } 
     } 
  
     void operator=(Student s) 
     { 
           if (this->name) 
           { 
                delete[] this->name; 
           } 
           this->name = new char[strlen(s.name) + 1]; 
           strcpy(this->name, s.name); 
           this->age = s.age; 
     } 
}; 
  
int main() 
{ 
     int age1 = 21, age2 = 20; 
  
     Student s1(age1, (char*)"John"), s2(age2, (char*)"James"); 
     Student s3 = s1, *ps = new Student(s2); 
     Student s4; 
      
     s3 = s3 + s2; 
  
     if(ps) 
           delete ps; 
  
     ps = &s3; 
  
     return 0; 
} 
 
a.  10 times 
b.  9 times 
c.  Application generates compile-time errors due to wrong call to operator = 
d.  8 times 
 
10. What will be the output of the following C++ application? 

#include <iostream> 
using namespace std; 
  
class A 
{ 
public: 
     void print() 
     { 
           cout << "Class A" << endl; 
     } 
}; 
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class B 
{ 
public: 
  
     B(const A& x) {} 
     B() {} 
  
     B& operator= (const A& x) { return *this; } 
  
     void print() 
     { 
           cout << "Class B" << endl; 
     } 
}; 
  
int main() 
{ 
     A ob_A, * pob_A = NULL; 
     B ob_B1, ob_B2 = ob_A, * pob_B = NULL; 
  
     ob_B1 = ob_A; 
     pob_B = &ob_B1; 
     pob_A = (A*)pob_B; 
  
     pob_B->print(); 
     pob_A->print(); 
  
     pob_B = (B*)&ob_A; 
     pob_B->print(); 
  
     return 0; 
} 
 
a.  
Class B 

Class A  

Class A 

b.  
Class B 

Class B 

Class A 

c.  
Class B 

Class A 

Class B 

d.  
Class B 

Class B 

Class B 
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11. What will be the output of the following C++ application (x86 architecture C compiler, pointers are FAR by 
default)? 

#include <stdio.h> 
#include <string.h> 
  
int main() 
{ 
     char str[] = "A string"; 
     char* pstr = new char[strlen(str) + 1]; 
     memset(pstr, 0, strlen(str) + 1); 
     memcpy(pstr, str, strlen(str)); 
  
     printf("%d %d %d %d\n", sizeof(str), sizeof(pstr), strlen(str), strlen(pstr + 1)); 
  
     return 0; 
 
} 
a.  9 8 7 7 
b.  9 4 8 7 
c.  4 4 8 7 
d.  9 4 8 8 
 
12. What will be the output of the following C++ application? 

#include <iostream> 
using namespace std; 
  
class MyClass { 
private: 
     int m; 
public: 
     static int n; 
  
     MyClass() 
     { 
           m = 0; 
           n++; 
     } 
  
     MyClass(const MyClass& s) 
     { 
           this->m = s.m; 
           n++; 
     } 
  
     ~MyClass() 
     { 
           n--; 
     } 
  
}; 
  
int MyClass::n = 0; 
  
int main() { 
     MyClass mc1, * pmc = new MyClass(mc1); 
     MyClass mc2 = mc1; 
  
     cout << MyClass::n << " "; 
     mc1 = mc2; 
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     cout << MyClass::n << endl; 
  
     return 0; 
} 
 
a.  2 3 
b.  3 2 
c.  2 2 
d.  3 3 
 
13. What is the right choice to make a valid string size allocation and content use of the heap memory in the below 
C++ code? 

a.  
char vstr[] = "tst"; 

char* str = new char[sizeof("Exam") + sizeof(vstr) + 1]; 

strcpy(str, vstr); 

strcat(str, "Exam"); 

b.  
char vstr[] = "tst"; 

char* str = new char[strlen("Exam") + sizeof(vstr) + 1]; 

strcpy(str, vstr); 

strcat(str, "Exam"); 

c.  
char vstr[] = "tst"; 

char* str = new char[strlen("Exam") + sizeof(vstr)]; 

strcpy(str, vstr); 

strcat(str, "Exam"); 

d.  
char vstr[] = "tst"; 

char* str = new char[sizeof("Exam") + sizeof(vstr)]; 

strcpy(str, vstr); 

strcat(str, "Exam"); 

 

 

14. What will be the output of the following C++ application? 

#include <iostream> 
using namespace std; 
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class MyClass { 
     char x; 
public: 
     static int n; 
  
     MyClass(char in = '0') 
     { 
           this->x = in; 
           n++; 
     } 
  
     ~MyClass() 
     { 
           n--; 
     } 
  
     void change(char in) 
     { 
           this->x += in; 
     } 
  
     char getX() 
     { 
           return this->x; 
     } 
  
     void setX(char in) 
     { 
           this->x -= in; 
     } 
  
}; 
  
int MyClass::n = 0; 
  
void change(MyClass& obj, char in) 
{ 
     obj.setX(in); 
} 
  
int main() { 
     MyClass mc1(67), mc2(67), * pmc = NULL; 
  
     { 
           MyClass mc3(65); 
           mc2.change(MyClass::n); 
           mc1 = mc3; 
     } 
  
     pmc = &mc2; 
     pmc->change(MyClass::n); 
  
     printf("%d %d\n", mc1.getX(), pmc->getX()); 
  
     return 0; 
} 
 
a.  65 72 
b.  71 72 
c.  65 65 
d.  72 72 
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15. What will be the output of the following C++ application? 

#include <stdio.h> 
  
char f1(char x, int* y) 
{ 
     (*y)++; 
     x += *y; 
  
     return x; 
} 
  
char f1(char* x, int y) 
{ 
     y++; 
     *x += y; 
  
     return *x + y; 
  
} 
  
int main() 
{ 
     char a[] = { 35, 36, 37 }; 
     int b = 7; 
  
     a[0] = f1(a[0], &b); 
     b = f1(a, b); 
  
     printf("%d %d\n", a[0], b); 
  
     return 0; 
} 
a.  43 61 
b.  52 61 
c.  52 53 
d.  43 53 
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16. How will be displayed the “car01.txt”, file after running the following Java code? 

 

a.  

 

b.  

 

c.  
Runtime error 

d.  

 



 

 

 

 

 

 13 

ACADEMIA DE STUDII ECONOMICE DIN BUCUREŞTI         CSIE 4        
Admitere: Studii universitare de masterat – Iulie 2022 
Facultatea: CIBERNETICĂ, STATISTICĂ ŞI INFORMATICĂ ECONOMICĂ 

17. What will display the following Java code, if the given input in console is "Hello World Java/Kotlin!"? 

 

a. Nothing because of compilation error 
b. Hello World Java/Kotlin! 
c. Nothing because of runtime error 
d. Hello quit 
 
18. What will display the following Java code? 
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a. # Class C Constr. # Class B Constr. # Class A Constr. 
b. # Class A Constr. # Class B Constr. # Class C Constr. 
c. compilation error 
d. runtime error 
 
19. What will display the following Java code? 

 

a. Nothing because of compilation error 
b. 500 
c. Nothing because of runtime error 
d. 400 
 
20. What will display the following Java code? 
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a. Nothing because of compilation error 
b. Nothing because of runtime error 
c. val = John 
d. val = null 
 
21. What will display the following Java code? 

 

a.  Nothing because of compilation error 
b.  Nothing because of runtime error 
c.  p1 equals p2 - false \n p1 == p2 - true 
d.  p1 equals p2 - true \n p1 == p2 - true 
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22. What will display the following Java code? 

 

a.  Always runtime exception 
b.  Always “Americano” 
c.  Sometimes “Americano” and sometimes runtime exception 
d.  Nothing because of compilation error 
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23. What will display the following Java code? 

 

a. Nothing because of compilation error 
b.  94 92 # 94 50 92 # 92 -1 92 # 94 -1 50 
c.  94 92 # 94 50 92 # 92 -1 92 # 94 50 
d.  Nothing because of runtime error 
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24. What will be displayed, after running the following Java code? 

 
a.  0 4 8 12 
b.  0 2 4 6 
c.  Runtime error 
d.  0 1 2 3 
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25. What will display the following Java code? 

 

a.  sum = 140 
b.  Nothing because of runtime error 
c.  Nothing because of compilation error 
d.  sum = 105 
 
26. What will display the following Java code? 

 

a.  91 73 21 
b.  Nothing because of compilation error 
c.  91 73 
d.  Nothing because of runtime error 
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27. What will display the following Java code? 

 

a.  Nothing because of runtime error 
b.  CAPPUCCINO, 17.000000; FLAT WHITE, 16.000000; 
c.  CAPPUCCINO, 17.000000; 
d.  CAPPUCCINO, 17.000000; CAPPUCCINO, 17.000000; FLAT WHITE, 16.000000; FLAT WHITE, 16.000000; 
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28. What will display the following Java code? 

 

a.  2034 
b.  7834.5 
c.  Nothing because of runtime error 
d.  Nothing because of compilation error 
 
29. What will display the following Java code? 

 

a.  305 
b. runtime error 
c.  897 
d. compilation error 
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30. What will display the following Java code? 

 

a.  Runtime error 
b.  Compilation error 
c.  false 
d.  true 
  
 

 
* Observation: Each question has same number of points. 
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Question Correct Answer 

1 c 

2 b 

3 d 

4 c 

5 d 

6 a 

7 d 

8 d 

9 b 

10 c 

11 b 

12 d 

13 c 

14 a 

15 b 

16 c 

17 b 

18 c 

19 d 

20 c 

21 d 

22 c 

23 a 

24 b 

25 d 

26 d 

27 d 

28 b 

29 a 

30 c 

 


